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M.A./M.Sc (THIRD - SEMESTER)
EXAMINATION, Dec. - Jan., 2021-22

(GEOGRAPHY )
PAPER XI

(POPULATION GEOGRAPHY)

Time : Three Hours] [Maximum Marks : 80

  
Note : Attempt all sections as directed.



Section - A

 

(Objective/Multiple choice questions)

(1 Mark each)
    

Attempt all questions.

    
Choose the correct answer.

P.T.O.
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1.    

(A) 

(B)  

(C) 

(D) 

Maltus gave the rate of population growth-

(A) 

(B)  

(C) 

(D) 

2. 

(A) 

(B) 

(C) 

(D) 

According to Malthus, what type of measure is death of popu-
lation control?

(A) Positive

(B) Negative

(C) Non-Natural

(D) Self-willed
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3. 

(A)  

(B) 

(C)  

(D)  

Low Income group dwells in which part of the city?

(A) City Centre

(B) C.B.D.

(C) Slums

(D) None of these

4.     

(A)  

(B)  

(C)  

(D)  

How much population be minimum for a town in India.

(A) 2000 persons

(B) 4000 persons

(C) 5000 persons

(D) 6000 persons

P.T.O.
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5.      

(A) 

(B) 

(C) 

(D) 

When did Malthus give population theory?

(A) 1788

(B) 1798

(C) 1888

(D) 1898

6.   


(A) 

(B)  

(C) 

(D)  

Where there is low population to use resources is called-

(A) Over-population

(B) Optimum Population

(C) Population Scarcity

(D) None
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7.     

(A)  

(B) 

(C) 

(D) 

Who gave the theory of surplus population?

(A) Henry George

(B) Malthus

(C) Karl Marx

(D) Recardo

8.      

(A)  

(B)  

(C)  

(D)     

Who divided India into population regions in 1968?

(A) R.L. Singh

(B) U.B. Singh

(C) S.P. Chatterji

(D) P. Sen Gupta and G. Sadasyuk

P.T.O.
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9. 


(A) 

(B) 

(C) 

(D) 

Which year was made Base year for population region of
1968 ?

(A) 1931

(B) 1941

(C) 1951

(D) 1961

10. 

(A) 2

(B) 3

(C) 4

(D) 5

Working population of India has been divided into how
many major category ?

(A) 2

(B) 3

(C) 4

(D) 5



[7]

F - 641

11.    

(A) 

(B) 

(C) 

(D) 

Which area is store-house of future for the population?

(A) Sahara

(B) Siaberia

(C) Antarctica

(D) Tibet

12. 


(A) 

(B) 

(C) 

(D) 

India can be compared with which country in terms of
population? Zelenski.

(A) U.S.A.

(B) U.K.

(C) Australia

(D) Misra

P.T.O.
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13.          
 

(A) 3

(B) 4

(C) 5

(D) 

How many total number of categories of working popula-
tion in Indian census of 1971.

(A) 3

(B) 4

(C) 5

(D) None of these

14.  

(A)  

(B)  

(C)  

(D)  

Which of the following word is synonym of labour force.

(A) Child population

(B) Old population

(C) Working population

(D) None
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15.     

(A) 

(B) 

(C) 

(D) 

Sex-ratio in female population with respect to male
population is?

(A) 800

(B) 900

(C) 1000

(D) 1200

16.    

(A) 

(B) 

(C) 

(D) 

What was the average sex-ratio in India in 2001?

(A) 927

(B) 950

(C) 970

(D) 990

P.T.O.

[10]

F - 641

17. 


(A)  

(B)  

(C)  

(D)  

What is the legal difference in the age of marriage
between boys and girls?

(A) 3 years

(B) 5 years

(C) 7 years

(D) 9 years

18.        

(A) 

(B) 

(C) 

(D) 

When communist government of China introduced
population policy?

(A) 1949

(B) 1951

(C) 1954

(D) 1959
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19.      

(A) 

(B) 

(C) 

(D)  

Which country did give the slogan of one child first time?

(A) India

(B) China

(C) Japan

. (D) Great Britain

20. 
  

(A) 

(B)   

(C) 

(D)   

What facility is given to government employees for adopting
family planning in India?

(A) Bonus

(B) Seniority in Service

(C) Extra Ration

(D) One pay Increment

P.T.O.
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 

Section - B

(2 Marks each)

  

(Very Short Answer Type Questions)

    

Note : Answer all questions in 2-3 sentences-

1.   

Give one definition of Population Geography.

2.     

Give one definition of Demography.

3.   

What is the chief source of population data?

4.       

What is the formula of actual density of population?

5. 

Population growth in India between 1911 to 1921 was
negative, why?

6. 

What type of relation is there between economic devel-
opment and ferlity.
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7.   

Why sex-ratio is low in Rajasthan.

8.     

How many types of migration had been said inside India
in 1961?



Section - C

(3 marks each)

  

(Short answer type questions)

    

Note : Answer all questions. Answer in 75 words.

1.   

What is difference between population geography and
demography.

2.       

Write in short about importance of primary source of
population data.

3.  NSO   

Describe national statistical organization (NSO)

4.      

Census of 1871 and 1881 in India.

P.T.O.
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5.   

Causes of urban to rural migration.

6.  

"Population density is low in the hilly areas," why?

7.    

"Brain-Drain takes place from the developing countries,"
Why?

8.  

"There is no over-population in India", how can it be said?



Section - D

(5 Marks each)

  

(Long answer type questions)

    

Note : Answer all questions in 150 words.

1.         
 

Throw light upon relationship of Population Geography
with Economics and Sociology.

2.  

Discuss population growth in free India.
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3.        

Explain criticisms of Malthus theory.

4.  

Throw light upon the measures to check migration from
rural areas in India.


